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€) BEEa0RDHE Part 1

1 {bﬂi#t‘}ﬁﬁiﬁl
ROFEZE LT, (1%6)

(1) 23 +6V3

(3) V18 +2v2

(5) V10 +

Al

2 (A5
ROFHEZ LRI, (14%6)

(1) V6 x v3 =+/50

(3) VZ(3 +VT0)

5) &~ VZ(Y3 + VT0)

2) TN2 =87 + 27 — 42

(4) 272 ++/75 — /98 + 312

2) V98 — 10 + /15 x /300

4) (V80 — 2v/15) + (—V/5)

V5—/10 4 V5+/10

(6) — 3 7
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1

R A B

~HAGHEABICERD 2~

[(=EAKDOFIA]
ROFEZ LT v, (11x8)

(1) (V5+6)(vV5+4)

(3) (VIO - 2)(vI0 + 2)

(5) (V6+5)" - (V6 —5)°

(7) (V5+2-v6)(V5-2++6)

2

1) x

(RDfiE)
ROXDEZE KD 7 Ty, (11%3)

=—V6DL X x2—x+1DfEEZRDR I,

(2) (V3-2)°

4) (V2+3)(V2-1)+V18

2. 6
6) (V2-5)" + 75

(8) (VZ7 - VB)(VZ&E +5) + (4v2—1)°

(2 p=3-+5, q=3+V5D& &, p? - ?DfEERDE I\,

B)x+y=V5+1, xy=V5-1D& &, x% +xy +y?Dfz KD 7% X 1,
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€) BEEEDROHE Part 3 + A A
1 [EHEOFIHD]
ROEME -5 AR a D% T TRD A& E v, (1 ax2) 3
(1) V17 —a B’ERE L 2 5 (2N20 = 2a D3E&H L 72 B

2 [((EAIBRDFIAQ?)
RDOFPANTE Z TR T\, (2 x4)

(1) V54n 23 EEH L 70 2 X ) /N O HARK I n Dfiz KD 7 X v,

(2) (20 mstEsie 75 X 5 BB x DR TR TRDAEE 1,

(3) VIO D/NEGR I x LT 5 L &, x(x +6) DlEE KD X,

(4) V11 OBEE D % a, NGRS 2 b LT 5L %, a+ (2V11+6)b DIEZRD R T,
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